Note :

PAPER - 11
MANAGEMENT STUDIES

Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Eps@h el wallssea|b. geubleuramlh@d @ream®h (2) wdHituarsar.

1.

Which fiscal measure should be adopted in correcting inflationary Gap?

I Reduction in Public Expenditure I Increase in Taxes

III Increase in Public debt

1) TIonly 2) TandlIIonly

3) ITandIII only 4) L ILIII

uewt aidbs Bl Geauaflenwd FROFUIISBG 6lHD 5@ Sl eswmeniLL GauemiGID?
I CuTsIF CFevalaHmed &HMMBSHH0 I aflsemer SIHSILGHSHIH0
[ GurgissLmer &8 SfdaHe0

1) | wi@w 2) | wppid [ wl G

3) | wBpw I w Gb 4) [, 11, 111

Investment in human capital is related with expenditure in

1)  Salary Expenses 2) Giving car facility

3) LTC 4)  Training Expenses

06T & @6\)‘5_566[«;5@@3 WHeSB CFUIHE0 61T @EF@&FG\)Q]L&H @g,m_rruaml_mgj
1) gwuen& 0F6v6ysHel 2) &7 uFd QUPHIGHEL
3) wwewt aIBLIL FIHS 4) uWIBHEF GFeveHeiT

It is easy to tell when Donald is not listening by the way he looks away when you are
speaking to him and he begins to tap his pen. Donald is communication through

1) lateral communication 2) proxemics
?_ social distance 4) nonverbal communication
I

1l g{@JGGﬂI_Lb (8ua;Lb(8urr%| @eremrra)(B MBS BHTHeL aUThIFS OB TeTenalevemns0
deiugl Qe UMMeGOEuTel  C0FMbhad, oSieud  oeueaig  CueTTaaISHSHL 196IT6.
QLTeImeLIg6 HB6UEL CHTLTL BFHeT euHTsd 6Teryl FaI6US] Rk

1)  ussuT (g OHTLTL 2) SIS HID

3)  Fpsdh 0FHTeMev6] 4)  OFTe0 SIELEVTH HBEUEL OHTLITL

Affective conflict is:

1) impersonal and based on issues rather than a personality

2)  emotional and aimed at a person rather than an issue

3) a divergent hierarchy of goals

4)  a consequence of the requirements of the job

2 _GUITEYST (LPJ6uwT 6T6HILIGI

1) BUT FTITSHEH, DLEHDD DIEV6VTH FHBHEOHM6NH H6NMDTHDH CHTERIL B

2) 2 _euiTeyTeIoTerd, @ WealHener &evdHdTHd OCETem gl Hbsmevll LBISILISETSI
3) BevsGselar alfigen ugpemev

4)  uefsGflw CahemauliLmGasefler alemerey

Work attitudes can be reflected in an organization through

1)  Job satisfaction 2)  Organizational commitment
3 Both ‘1’ and ‘2’ 4) None of the above
BleaTSHH 60 Liewll [BLSHmHHe Gmimiend L1yduedddemser.
1)  uewil LeIHeNBEY 2)  mpeuend SLLILTH
3) 1 wBpw 2 4) Guomanpi eIgI|D E60en60
The group are more important to the group members than any
financial incentive.
1) Norms 2)  Values
3) Both ‘1 and ‘2’ 4) None of the value

GW o pliamaseErdhd STHeT FTMhd GHUSTET WOSD  (PSHSWIDTEISH.  LIewT
Ceuggdenw el Georeig

1)  elgsel 2) (DL WIMIBEIT

3) 1 oBmb 2 4)  Guomampiw 6IHIe|LD6THI
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7. Intelligence Quotient can be calculated as
1)  Mental Age/Actual Age x100
2)  Actual Age/100 x Mental Age
3) 100/Actual Age x Mental Age
4)  Actual Age/Standard Age x 100
mlewieninldh HmerT SMImIID SHenTdSL LGB
1)  cwoasAHsBear auuwig /| 2 ewienowrer euwig X 100
2) o _eawiewowner alwig /100 X cpenenSHHmET oG]
3) 100 / o _ewienowlmen UGl X CLPen6THEmer allig]
4) o awewwwnen euwigl [/ Fymam euwg X 100

8. Re arrange the following steps of recruitment
I Searching 11 Evaluation and control
III  Planning v Screening
v Strategy development
Codes :
1) II,II,I,V,IV 2y HI,V,I,IV,1I
3) IV,V, II,I1II 4 II,I,IV,V, III
SpHHTeEmID O CFTHmaLl LIgHemeT 0Bl QUOEIG 6lFuls
I BB ae0 I LHILINBH0, B BLLIGSHSHISH
[ S ed Vv QUL L 60
V 2 s5uwpems euenidd
GCETR
1) II,II,I,V,IV 2) HI,V,I,IV,1I
3 IV,V, II,I1II 4 II,I,IV,V, III
9. The term ‘Exchange Ratio’ is used in
1)  Profitability Assessment 2) Capital Structure
3)  Mergers and Acquisitions 4) Leverages
ufleuTdeemen aldlad eaiaid Ggmed Bmsd GBSl LWRLBGHSLILBGS B
1) @euru wHIIG 2)  PeLHE DIGMLOLIL]

3) BmasHHe0 BHID mBaIleupIH  4)  GELYGCHTEL allendsHHmest

10. Certificate of deposit is issued in multiples of

1) Rs. 5 Lakh 2) Rs.10 Lakh
3) Rs.1 Lakh 4)  Rs. 25 Lakh
mallildh CFTenassF Framisear CLmEBE OHTMS LOLMIGHET Shd ULDRISLILIHES BT
1) 5 ®e g 2) 10 &eul &1D
3) @m Bl Flb 4) 25 B6L FRIH6IT
11. In Walter model formula D stands for
1)  Dividend per share 2) Direct Dividend
3) Dividend Earning 4) Dividend payout

QUTEOLT LOmL60 eumuium’iged ‘D’ eleiiug Bensd GNsamaI
1) @6lbeum(m URISBSTEN Fe H0HTmS 2)  Gprg FeyHodTIND

3)  FYHOHTMS GU(HEUTUI 4)  FYHOBTMNS HELE(LPMB
12. Which of the following would not be acquired from a target company in the event of a
takeover?
1)  Target company equity 2)  Target company asset
3) Target company liabilities 4)  Target company share price premium
Bevd@ Hmeued OFTeT(LpEHelled SHpdbHewiL 618 OLBLILIL LT L T&I?
1) BvdE Hneueat FrHallly 2)  Bodg BoeuaF CFTHa
3)  Bd@G HmeUid HLeHIGenLOSH6IT 4)  @evdG Hpeuel LkE afleev LITLSWID
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13.

14.

15.

16.

17.

Marketing managers should adapt the marketing mix to and
constantly monitor value changes and differences in both domestic and global
markets.

1)  Sales strategies 2)  Marketing concepts
3)  Cultural values 4) Brand images

® aMBTLB wBBIWD FTaulsF SMSTYHeNd DRSTYULGHSLD  GevmerT, SDIBIGTIQS
Fal L DLDGM6USH & LITEIT(H (IO TN LOTBBBISGBEIT LOBMILD
Goumpiunpsemen Blemeowinall LNFeISHsLIQEW BHHHe0 Goueut(HLd

1) eiBumer o S (Lpenmaeir 2) OmBTYdH H(HSHDHTHBMIBEN
3)  uewUTL (B &L &6 4)  Ugmewtl.  LIgLOBIGH6IT

Which photographic technique is used to record path of motions of the members of the
body during method study?

1)  Acrograph 2)  Cyclograph

3)  Cyclogram 4)  Cycloscope

abs UmslUuL o 53, il o mlileamseT SuUmGUTmSL LSHaDHE (Wpens
Su1aled LWSTLHSSLILBGSBSI?

1)  osCyrdym 2)  angsGenmalyml

3)  engsBenmalymid 4) g &HBenmerdBaItl

Total work content =

1)  Basic work content + Excess time 2)  Basic work content — Excess time

3)  Basic work content + Ineffective time 4) Basic work content — Ineffective time
Qorshs Lewll o 6oL &ald

1) SlgliLenL L1 Lenfl 2 6oL &&lD + FnBHe0 STV DIUSBTFLD

2)  SIgliuemL Ll Lewl 2 6TeM_&HlD — SIUSTFID FnBSH60

3) SgliuemL 1 Ul o eTenl e + uweLrs Gnyd

4)  ougliuemL 1 el o e6Ten e — uweuLtgh GCoyb

Work study is concerned with

1) improving present method and finding standard time

2)  motivation of workers

3)  improving production capability

4)  improving production planning and control

ueni U6 DHeIl 6T CISHTLTLEnL WIS

1)  @uCurewsw (wenpenwl GCLBGSHSHIHE WBBID ST CHISHmSHdH H6wILHe0
2)  uenlWTeNTEHmeT 26185 EHaldHe0

3) swriliiysd SHmemer GbLIGSHSHIH60

4)  swrfiiysd HLbLed wBpIbd S GELHUBGSHHMe0 GCLODLIBSHSHIHE0

In break-even analysis, total cost consists of

1)  Fixed cost + Sales revenue 2)  Variable cost + Sales revenue

3)  Fixed cost + Variable cost 4) Fixed cost + Variable cost + Profit
Ufeas ampl LuGLUTWIaIN OTHs almed GSeuBens 2 6iTeNL sbaluleTengl

1) pleweoliu@sHsiu’L QFee] + alBuemer eihHeumul

2)  wmlF GFeve] + alBUMET aIHEITU

3) BHoeoluBssliulL Ggeve + wMEEF OFevey

4)  plemeoliuBGHHILLL OFevey + LTHEF OFevey + GeomLD
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18.

19.

20.

When performing a Chi-square hypothesis test, what happens when expected
frequencies in several cells are too small?

1)  Value of y* will be overestimated

2)  The null hypothesis will be more likely to be rejected than it should be

3)  The degrees of freedom are greatly reduced

4) 1) and 2), but not 3)

md  0eawT  &mBICETAT  CaHTemeusF  CFwBuBSHID  Curgk  erFHTumiTehaslulL
BBLD6eueIH6T LIsbGeauml Helwenpserisd Wsab FABWSTE SHHHTED 66t HLHEGWD?
1) 2 el wdHiy Hems 2 5655 wHlLnEb

2)  Oeaummis smHICaTeT HyTasfdsliubBausBE i seuruiiy 1@

3) alBpmevd Camemmmiser QUKD GewBaHEILGLD

4) 1 LBLBID 2 SeImed 3 E606eN60

Y = a + bX refers to

1) Y = independent variable, a = slope of the line, b = Y intercept and
X = dependent variable

2) Y = dependent variable, a = slope of the line, b = Y intercept and
X = independent variable

3) Y =independent variable, a = dependent variable, b =Y intercept and X = slope
of the line

4) Y = dependent variable, a = Y intercept, b = slope of the line and
X = independent variable

Y =a+ bX giuiGeus

1) Y= gmrg B, a=agnuigen Cxsih, b=Y @ 8sr®, X =amiy Bemev

2) Y = gniiy Bplewev, a= gmiugpen Garh, b=Y @ Cas1® womid X = FMyms Henev
3) Y= gmns B, a= gy Heev, b=Y L Ca1®, X = gmuigen Gsn(

4) Y =gy pleev, a=Y @ Gan@p, b=gruiigen Gx1®, X = Fmyng Henev

The steps taken to solve a problem are given below. Arrange them in the correct order :
D Analyse

II) Test

III) Implement

IV) Evaluate

V) Document

VI) Design

VII) Develop

1) I VI VII 1I \Y I  1v

2y I 1II m I1v-- v VI VI

3) I VI IIr 11 Iv. VvV VI

4) I VI VII III I IV 'V

R dobsmend SHTHe  aBSILUUBL OFweouTiger  UgseT &6 SIUUL (HelTerer.
SluBenpdF Flwmer auflenguled QOMISMDGHSD.

D ugdsed

II) Gzitey

III) pLpBLILGSHSH6D
IV)  wginisd

V)  seuemb

VI) eangeueniori
VII) wperGeBm

1) I VI VIl 1II v Il IV

2) I 1I nmr 1mv- v VI VII
3) I VI Imr 1I Iv. v VII
4) I VI VII 1II m I1v Vv
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21.

22.

23.

24.

is adding new, unrelated products or services for present customers.

1)  Concentric diversification

2)  Horizontal diversification

3)  Conglomerate diversification
4)  Product development

UHBTEE  FmbBHeorasF GaFTdslulLmed, OFHTLTUBB  CUTHL SH6l
Slevevg BFemeusdsell LHW aUTQHmBWITENTHEHHSHSH SHILILIGHS 6360,

1)  QuUTEkIEDWLILIT660TESHID

2)  SenLiol L LJeUeUTEHBLID

3)  OQuflw euewllad gnl igenemiey BIBIGUILI LFaUETEHHLD

4)  Gumrmer (WerGermBmLD

Internal strengths and weaknesses are usually

1) the major cause of organizational demise or success

2)  controllable activities within an organization

3)  most important for CEOs and the board of directors

4)  not as important as external opportunities and threats

2 _6lMeflllied LIGOBIGEHD, LIeVaIabISEHD GLTHIeUTS,

1) Pipeuer QauBpls@l (o) woBalBGL e (PHHUI STTEIOTES DIENLOSHBSHI

2) PBeISHBGHN SBUUGHSHHHES QFUICOLTHSHEI

3)  Bws@nTeelear @G WLBDID (WHetemod CFweoT &  DleialevTaEnd@ WSHa|D
(PSS WILDTETSH)

4)  ymeyevd UTWINILSET BDID DIFSFDBISHH0H6T CUTEIB DIGHHMT (LPHBUISHBHIAILD
2 ML UWSEINI

The Grameen Bank model is affectively used by which of the following institute?
1)  Education sector

2)  Finance Sector

3)  Rural Sector

4)  NGOs

SPHHENIL 61hFH HBIUTHHBGS HITO eumid OTLed LWaTUGSSUL (BeiTeng?

1) sevaldHHimns

2)  pgdsams

3)  Sgmiwssiens

4)  peeiteyd OHTewIB [HlHIeUaTHISH6N

The book “ Innovation and Entrepreneurship “is authored by
1) Stoner, Freeman and Sillbert

2)  Peter. F. Drucker

3)  Paul and H Wilkon

4)  Gene Burton and Manab Thakur

SemiBLIglIL LBBID SFUWOSTHEL (HHEMLD 616 HITEN6L 6T(LRSUIGUT
1) ero@LmeorT, Lifioedr LoBmIDd FevEUITL

2) WLt F wréet

3) umed wBmid H efe0@smest

4) el UM LT LBBID LA SHTHET
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25.

26.

27.

28.

The ethical dilemma of choosing between two rights refers to

1)  choosing between the lesser of two evils

2)  deciding which of two employee rights is the most important

3) deciding to offer a bribe or lose out on an important opportunity

4)  choosing between the two types of sexual harassment

@rewi o flevwsepdsSmruled GHiTey OGFulugded alwplwgd SEOTHBBL  DenHd

Glulk el

1) @i SwereuBpleT GephoHeralaiensd CxHiTea) GCFuisHsd

2)  epsp @rewih eampuwit o flenwsefled Wdad (WPHIWILOTEHIH 6THIBI (PI96] CIFUIH6D

3) @ WhHwiomer euTuilienl @6evehdld HhHH OCLUBIUST DleV60H GSOLILIST 6T6iIml
SHTLOT 60T & FH60

4)  @rewih alxh uteduwed CFHTeLmeVHEHRHEG Bl Cw BCxiTe GFUIgHe0

definition of marketing is inappropriate in the present day business
environment characterized by intense competition and ever changing needs and
tastes of consumers.

1)  Market oriented 2) Consumer oriented
3)  Product oriented 4) Social marketing oriented

D SIRSTYLILGSHHIHD auenTweny CUTHWISHTH. BeitemmuL
aeladF gbbenev, Spwiomet Gumily, eIGumgId wId C&TeamiCL EmeE& CHemeausel
BB BHISTCMTTHI FMeUL|EITAHET GHBSHHUBENB 266 &HHaT606M6V.

1)  omsng GpBwmenms 2) msfCaunm GEMILLLL g

3)  Qummer GBMILILILLGI 4)  Fws SMSTYILGSHHE0 FTbHSHH

Ethics i1s concerned with the goods worth seeking in life and with the rules that ought
to govern human behaviour.

1)  Social pressure 2) Social torture

3)  Undue influence 4)  Social interaction

OIBOBB  asiug  eumbelsd  wHY  WEBmBH BCHBHL, NGH  BHLHMBHEMW
BTSN SHHHESG S (LPOBEH6T FThHH!

1)  swps DWHILD 2)  Fps UM

3)  ems urdiiy 4)  FepasF OFT60EVTL 60

“A political party consists of a group of citizens , more or less organized , who by the
use of voting power aim to control the government and carry out their general
policies. Who said this ?

1) M. Duverger 2)  Schumpeter

3)  Grettel 4)  Joel dean

QM Spdfwed &4 FBCBBSGHMBL PURGUGSSILLL  GHUWIL B  GIQLO&HMETSH
CETewI(heTeNl.  YUTHGT FT6T UTHG MO HLBBEOTEL SHFFTHRISHMSBS &L BLILIGSHHID
BHGLET,  FHhFBeNFH  OuTHieuTenr  OFTeTemdemenF  CFUBUBSHIFBIISET  6TIHI
2 _emyshHeuT wmr?

1)  eb. HIGGUTHT 2) 6YOBIDLIL LT

3)  &MLOLed 4)  Gxmuied 1Leer

M1602 8 F



29.

30.

31.

If a firm raises Rs. 1, 00,000 by the issue of debentures at 10%, repayable after 10
years, the rate of return that equates the present value of cash inflows with the
present value of cash outflows is referred to as

1)  Explicit cost 2) Implicit cost

3)  Specific cost 4) Future cost

@@ [Hineuerd 1,00,000 apUTUISEG URIGSmeT USHEH FHaldls alpssilLenaley,
USHSTWIBHBEHHGL Ler  Hpollsh Hreamipustes  Oeuelluil (hetengi. SILGUTHWI
B GUOUBL aldsd Seempul Lo o LUL@ WU oBpid e Geuefyg gL e
FWTE SmHUugk Gmmed GBILLIL LGB

1)  yeolium( eflensv 2) 2_siefailulsd aflensw

3) eIuIlL efemev 4) el alemev

In case the demand elasticity under imperfect competition is unity, the marginal

revenue will be

1)  more than utility, but less than infinity

2)  equal to unity

3) less than unity, but more than zero

4)  equal to zero

gilwmp  Gumiiguiled Copemeuullelt OBFHPHHE| @BDIND  6lelled  alafbLBlenev  eUHEUTUI

OmImIEIoTSH Couemi(BLD

1) uwwSuUTl dLs STLQEID  FnBHHEOTAIH. LMD  6T6VEMEVWIBBMBHH  HTLIQEVILD
GERIIEEY,

2)  @eIBIULEJ6Y FLOGTENLD

3)  QEIBILULMeVS  BHTLIQEVILD  (&H6DMBEUTEIHI. ML UMIWHnHS ST IQEILD
SIHBLOTEIH]

4) UBRWSIHBGE S0

Open market operation means

1)  Borrowing by scheduled banks from the Central Bank

2)  Purchase and sale of Government Securities by the Central Bank

3) Lending by Commercial Banks to industry and trade

4)  Deposit mobilization

HwbHeH DmSTF CFWeOLTH 61T

1)  eooww euRSUNeHHSH UL IQUID 6URISIHETH HL 60T

2) oW RIS WM uTRISIULH, aIBSUULL SIFFTRIS STLLL LSHSHTHIS6IT
3)  aTHHd amSHeTe0 OHTHISGWD, aeleHHBESHD SIUULL  HL 631561

4)  AUIUHOBHTNDHDH Fnl Lm0
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32.

33.

34.

35.

The team of authors, who called organizational development as, practical application
of science of organization is

1)  Porras and Robertson 2) Fayle and Taylor
3) Rogger and Bennet 4) None of the above

Boeuet euenTFd  elailgl  BHoieuarshsHed  Dplalwenevd  OFWOLIGSHSHID  HEwL (LPenmL
LWIBE et HHHMSSH CFMaldHd HiLjeonTael

1)  Gumgmerd OB@ID FTLIT &evt 2) GuBuimed oBEID GIL_UIEVT

3) Gpregm wBmId Gluedteot 4)  GCoBOFTese 6T6M(HLOGTN)

In an interview, the interviewer performance is neither satisfactory nor correctable is
known as :

1)  Satisfactory - Promotable interview

2)  Satisfactory - Not promotable interview

3)  Unsatisfactory - Correctable interview

4)  Unsatisfactory - Un correctable interview

@  CpTaremedsy, GBT  smewiueuygd  OFwebuT®  HEHUHSILTHOID  E60En6V.
FRlWwmenHTHaD E60enev 6TaTLG SRImID SBWLILGSBS

1)  SHepugdsyn - GobLL $555 CpiTHTemne0

2)  FHmpuglsb - GowuBseHalweor GbiTHTemT60
3)  SopudsyoBsas - gfilul L GpiTsmented

4)  HopuHsIoBBs - gfiliuLrg GpiTsTeamed

Job Evaluation is a technique which aims at which one of the following :
1)  Establishing fair and equitable pay structure

2)  Analysing the requirement of updating technology

3)  Assessing safety requirement of jobs

4)  Improving productivity

uemil  WHIIH GHLUSH  QH 2 S5 DIG  SDHBMILUBDIET 6lhdH  CHTHEHHIL 60T
GoposmeTemiiLbh S B

1)  pwrmwiorer, gFwwrer em&ul UL elienld CHTBmIaNdHe0

2)  Gubu@said amPsd HILUSCHMe GMISHHIT LUGLUTUIE] CFUIHe0
3)  uewisefler smiydh Chemeusemern LOSIILIL 60

4) 2 pusdsgpemear GLGHSIHE0

If government sets stricter licensing requirement for electricians, we would expect all
of the following to occur in the labour market for electricians except for the

1)  Wages of electricians to increase

2)  Number of people working as electricians to decrease

3)  Demand for electricians increase

4)  Supply of licensed electricians falls

AUCUTEH SIFFTHRISLD, HHEOWTET MmeVCFEFHdH CHemeuenw! LOGITFTTL LI WT6NTHEHHE)
BHEOL (LPedBLLGSHHeITe0,  GFHTfleorenT  OmISTIQUIEL  WOTFTIL  LIGIWTeNTHEhSHHTHD
SIPHHWIL. WTOD BLSGD, @etenssd Haly

1)  Weligngll UeniwWTenTa@ehodTen Snedlenul HISHSTILSBE

2)  Wersmyl venlwmentaemall Usnlyflub oéselelr sleurenisbmaamilds &HMBLILSBE
3)  Wentgngl uewilwmenTaEndbarer Chameu DI sl

4)  oafon Gummp Wergmyl uslwrenTseng alelGuimsd gfujb
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36.

317.

38.

39.

40.

At its current capital structure of 45% debt and 55% equity, RV Limited’s beta equals
1.35. The expected return on the market equals 15% and the average market risk
premium equals 8.2%. What is cost of equity?

1) 11.07% 2) 17.87%

3) 6.8% 4)  9.18%

SBCUTMSHW  clpeuFHaaid &l Lemolileiug 45% sLea, 55%  méallp. RV 010 Ligesr
HiLm gweteny 1.35. omsmouiedmbal o1HT uMTeEslILUGL eugey 15  ggmsfl omsmy
Mervd MWD &b 8.2% eailed SiHeT Fhall lguiet aleney 6T6sTe?

1) 11.07% 2) 17.87%

3) 6.8% 4)  9.18%

The objective of Test marketing is to

1)  Test the market with consumers

2)  Introduce product in open market

3) Predict product’s performance and its future

4)  Test consumers with the product

Barmpemen DIMISTIQUILBHSHVIN B60dHE 6T6iILIG

1) 9SmsTemU 6UTIYHMBWITENTHEHL 0T CFTdHemenn GFulag

2) Hmps SmBTQUIsD CUTHEDET DINSI(PHD CFUIHE

3)  Gummefler QFweLHHMMEVDH HNHH DHG GIHTHTVHMBI SHTLOT60T HFH6E0
4)  GummenLear mSTCuTmIEF Cangpemen OFUIHeL

What are three popular methods for obtaining primary data?

1)  Experimentation; personal interview; Delphi technique

2)  Survey; interviews; experimentation

3) Interviews and surveys; observation; experimentation

4)  Interviews and surveys; observation; Harrison methodology

(PSHETMIDG HT BTl CUBIISBSTIW Tl (WSHH U (LPeHBEH6IT WiTenel?

1)  ufiGsrmmen, HeipLT ChTsTemed, GO 2 58

2) &iGeu, GpiTamentevsmel, LIMGFTHmen

3) Goirememieoser wBmId &T6a, o BmIGHTEHES6, LNGFTHMe

4)  GriTerenicoser WBBID FTGabdel, © BBICHTSH, amThFaiar ITUIFS (Wenns

Promotions that are aimed at intermediary in the distribution channel are known as
1) Trade promotions 2) Sales promotion

3)  Consumer promotion 4)  Sales force promotion

udlitey BoLaufuled BoLBever CpThdmers OCBTHIL o WITH6T  EHImIeID
SPGB STt

1) eouemis o2 wiey 2)  elBueen o _uife]

3)  mIsTCeutt o _witey 4)  alBuUmT IpSs 2 _UIT6Y

When producers, wholesalers, and retailers act as a unified system, they comprise a :

1) conventional marketing system 2) power-based marketing system
3)  horizontal marketing system 4) vertical marketing system
®_BLGSHWIT6NTH6NT, QorsH % I BLEHETLITENTHET, Flevevenm Al BLIEHETITENTTEHEIT

SIMSTOU(HLD  QUHHIBTEHH — DMOLILTEF  QFweoLBLCUTEH  SuTHeT  BHHS
SIeLOLILT 60TYT &5 G013 60TT

1)  woyoumuprlg SIRSTQLUUGSSHID SlenLoliL]

2) BBV DIYSHHENMOTHE OBTEWIL HIRIBTY  HIENLOLIL

3) Sl L QRISTQLUBHSHID SlenLoliL]

4)  OCemESHHTErT HBISTYLILGHSHID DIEHLOLIL|
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41. Three Dimensional representation of an object is termed as:

1)  Automated drafting 2) Engineering analysis

3)  Geometric Modelling 4)  All of the above

@@ Qummeder (wlufiomen ISP SHoHHeD SRmeEID FnBLLGSBSH

1) srelwrs eumyey 2)  Qumiuiwed u@UuTUiey
3) Qurlfé wredml 4)  GCBOsTeaIe SIENTHHID

42. The collection of all possible events is called

1)  ajoint probability 2) a simple probability

3) asample space 4) the null set

6T606VT  FTHBHLOTE [HlBLDeH6Melr OHTGSUL BmImeID DIENWSHBLILIGS BRI

1) @ sgL@B Frhiwiun® 2) @@ eleflw grdHHwiumih
3) @ wrdHfl GLIb 4) @m OCeuBmid HewIDd

43. Match the items given in List-I with most appropriate options given in List-II.

List -1 List — I
(a) Centroid Method (I)  Multiple Regression
(b) Hierarchical Method (IT) Factor Analysis

(¢) Relationship between a single metric dependent  (III) MANOVA
and two or more independent variables

(d) The main and interactive effects of categorical
variables on multiple dependent interval variables (IV) Cluster Analysis

a b ¢ d
1) Iv 1II 1 II1
2y II IV 1 11
3) II IV 1III I
4) IV 1III 1 II

Uliguied @&Imled SIUULL  CFTBESEHSHSGSL  OUT[HHSHEE06D LILIQUIEd @J6wiged 2 6iTerm
FnpIBemeNLl GUT(HHSHIS

Ul guied 1 U lguled 2
(a) emOWI(LPHB l.  ueiow LeterenL 6y
(b) uwgPmevs sSreaufleng (ewm Il. oEssmD LGLUTLIR

© gbopsmBu ey W wWHpL QTG OB ASBES
GuoBulL S#FbAHT wItleeEndE SemLuleorea o me)

(d) waemw LBBID 2 6TeFweOUT. B allenerTe semend . w@ermeur
CamewiL eufleng(penm LTMlséeT Leow &miy SenL Oleuer
LOMNSI 61T V. Ga1gd ugliumuiey

a b c d

1) IV II 1 II1
2) II IV 1 II1
3) II IV III I
4) IV 1III 1 II
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44.

45.

46.

What is the term used in Ansoff's matrix for increasing market share with existing
products in existing markets?

1)  Product development

2)  Market penetration

3)  Diversification

4)  Market development

sBlurgl  Fhmssellsd BBHEGL QUL EmeN  UBIEG  FhHmd  HevauJHIHBE
® WITHHIUSBEG DISIFI SLLMWILID 6hdh OFTeL LWSTLGSSLILIGSMBH?

1)  Qurmen (werGeBmLd

2)  omsmg Geuheimseo

3)  UTeIEUTEHBID

4) omsTy (WarGeampLd

1s the process that helps managers understand the nature of the
industry, the way firms behave competitively within the industry, and how
competition is generally undertaken.

1)  Market needs analysis
2)  Portfolio analysis
3)  Strategic market analysis

4)  Organizational analysis

CamPovssHFHar  Buieoenull  Ufbgd — Osmelenayb, G miHedled
Bpleuemiset GUTLigujemTTe] (emeliLL 6T BLbSH O@merend alswb, Gumlly GuTgieuTs
emmed GCuBosTateniuGsBg  aaumal uUBS SPbibal  CsTeten  GeoTenTaeEhaE
2_ 5D BEL (L[S

1) o9omsmgs ChmeuseT LGUILTLI

2) SLEUENTL GOLIL|eNMBLI  LiGLILITUI6Y

3)  eUMTWENLD HIRISTIQL LGLILTUIe,

4)  ppeuer uGUUTULIe]

In which industries is global competition more common?

1) where downstream activities or other tied activities are vital to competitive
advantage

2)  where the value chain functions are carried out at head office

3)  where upstream and support activities are crucial to competitive advantage

4)  in none of the above situations

aealaumsdd OFTfevsmsaies o evsenmuw  Gumily WSeD  FTeUFTHTIEIOTOIHTHS

STt LGS B ?

1)  ow'LdF GFweoun®hser (o) UB slriu’L QFwedur®haet Gumily HeveaTaenerLl
CUBIISDBES bS @)L L ST LOGAD BeTHIULIEnNLOWIT S 60

2) FHMUMID VOIS HH60  AIF  FRSNF  GFweourhHel  ymiGs  Faer
GopesmeieniiLI(h e ep3eot

3) Guweowl'L o gals Gewedum@aser Gumiigl uweaismen CUBIMISDHE <ybs @)L Lb
Sme LOSBYD  BesT3ILIENLOUITSH60T.

4)  GupOaTeter & pHlenevserilsd 6IHIAILDGTIBI
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47.

48.

49.

50.

Match the following :

Factors of entrepreneurship development Element

(a) Support system I. Research and development
(b) Environmental factors II. Business policy

(¢) Socio — cultural factors III. Personality and attitude
(d) Individual factors IV. Living standard

a b ¢ d
1) 1 Iv 1I 111
2) 1 I 1I1v 1III
3) 1 I II 1I1v

4) 1 Im I1v 1II
SLDSHHEWILaUBeMBL  CLIT(HIHHIH

SWOSTH60 (LpeiGaBped  dnmIdH6i QUIT(HEBTENLD
(a) Flmemienld SiENLOLIL] I. oymuisdl wBpibd (perCGeammsmLd
(b)  FHPeduled FnmIH6IT II. Gsmped GsmeTens
(c) Fewps UTUTL (Hh8nBIH6NT III. sueEmeD WBEBID HLGHMS
(d) aipUT Fmpigein IV. aunpsemnasssyn
a b c d
1) I Iv. 11 III
2) 1 oI I1v 1III
3) 1 I Iur 1Iv
4) 1 I v 11

1s thought as creative capital which is exercised to perform
economic functions different from other investment vehicles which primarily serve as
expansion capital.

1)  Share capital 2) Fixed capital
3)  Venture capital 4) Equity capital
aeLG  ULUUTSHS  (PpHeh  61aIml  SHSLILBGH MBS 9I5|

QurmemTaTrEF Gawevder wBBID UM (WwHeSLG eundammiser, alflourds (PpHeSLTHLI
LWSTL(BSBSH

D usg WwseB 2) Peowss 36l

3)  glewlay wWuwBd s5eS6 4)  swe WHe06

An entrepreneur doing business within the national border is called

1) International entrepreneurship 2) Intrapreneurship

3)  Domestic entrepreneurship 4) None of the given options

Qm  SFWOsTHed (wemeiGautt Gxha  elevmevd@GeT Gl  GFuleugd  EmImieD
SIMPSBLILBB B!

1) FTalss OxmPed (WwenenGeurT 2) swWOsmHed (WenerGeumfluibd

3) o ampT (s Omhed (pemeiGaumflwd  4)  SIUULLeuBBIET THIOD SIETBI

Mathematical formula to calculate human relations is 7(21/2 + n—1) Hence n is

1)  Employees 2) Executives

3)  Number of subordinates 4)  Managers

wels 2 MeBMmend SebHLL LWSLBGSSLILBLD SHaid  eumulIliLm® n(2n/2 +n- 1).
BHe0 1 eIHILS)

1)  esmfuiTsel 2) BiTeuTal®ei

3) o sallueflwmenTseng eewienibensd 4)  GoeomeniTael
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ROUGH WORK
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